
1) Emily builds a tower that is 12cm tall.  Peter adds 5cm more.  

 What is the total height of the tower? 

 

 

 

 

 

 

 

 

 

2) Amelia is 100cm tall.  Her brother is 20cm taller.  How tall is her 

brother? 

 

 

 

 

 

 

 

3) Red bricks are 3cm long and blue bricks are 5cm long.  Whitney 

made this pattern.  How long is her pattern? 

 

 

 

 

Whitney’s pattern is ________cm long. 

 

12cm 

5cm 

Amelia 

100cm 

20cm 

3cm 5cm 



4) Can you add these measurements? 

 A) 11cm + 6 cm = 

 

 B) 19cm + 3cm = 

 

 C) 6cm + 21cm = 

 

 D) 31cm + 31cm = 

 

 Challenge: 5m + 9m = 


